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2
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(
10 y = 0.6979x - 0.4248 )
R? = 0.6987
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(Brix %)
(Brix %) (H15,17)
H17
2 2
1 148.4 155.9 134.1 9.8 6.6%
2 160.7 165.9 152.0 6.2 3.9%
3 111.8 123.8 102.5 8.9 8.0%
1 32.6 33.2 31.8 0.6 2.0%
2 40.5 41.4 38.3 1.4 3.6%
3 34.6 36.1 33.3 1.2 3.4%
1 3.27 3.36 3.11 0.11 3.4%
2 3.30 3.42 3.22 0.09 2.7%
3 3.26 3.29 3.20 0.04 1.2%
8
=mg/100gFW =g/100gFW
(H16)
3 3
A 127.9 | 171.4 | 103.6 | 15.6 12.2% 164.0 107.6
B 133.7 | 167.0 | 101.5| 15.2 11.4% 156.6 106.4
A 32.1 34.7 30.0 1.1 3.3% 34.2 30.2
B 36.7 40.6 31.3 2.1 5.6% 39.9 32.3
A 3.30 3.67 2.96 0.2 5.7% 3.64 3.00
B 3.14 3.45 2.82 0.2 4._.8% 3.42 2.89




